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The Tale of William Tell | Worksheet
Story sequencing: Number the scenes in order from first to last.

William Tell refuses to
bow down to Gessler’s
hat.

_________________

William leads his country
to victory.

_________________

Gessler commands
William’s son to be tied in
the town square and an
apple placed on his head.

_________________

William successfully
shoots the apple.

_________________
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The Tale of William Tell | Answer Key

William Tell refuses to
bow down to Gessler’s
hat.

1

William leads his country
to victory.

4

Gessler commands
William’s son to be tied in
the town square and an
apple placed on his head.

2

William successfully
shoots the apple.

3


